Division Worksheets

Number Correct:
B Improvement:
Divide by Multiples of 10 and 100
1. 20:10= 2. 840+ 4=
2. 420+10= 24, 840 + 40 =
3, 4200+ 10= 25. 3,600+3=
4 4,200+ 100 = 26. 3,600 +30=
5. 42,000 + 100 = 27. 3,600 + 300 =
6. 40+ 10= 28, 480042=
7. 840+10= 29. 4,800 + 20 =
8. 8,400+ 10= 30. 4,800 + 200 =
9. 8,400 + 100 = 3L 69,000+ 3 =
10. 84,000 + 100 = 32. 69,000 + 300 =
11. 900 +10 = 33 69,000 + 30 =
12. 90:3= 34, 800 + 40 =
13 900 + 30 = 35. 1,200 +40 =
14. 6,000 = 100 = 36. 1,280 40 =
15. 60+2= 37, 1,600 + 400 =
16. 6,000 + 200 = 38. 8,000 + 200 =
17. 240+ 10= 39. 14,000 + 200 =
18. 24+2= 40. 14,600 + 200 =
19. 240:20= 41. 2,560 : 80 =
20. 6,300 =100 = 42. 16,100 + 700 =
21. 63+3= 43 14,400 + €0 =
22 6,300 + 300 = 41 37,800 + 900 =
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Division Worksheets

Number Correct: ____
B Improvement:
Divide by Multiples of 10 and 100
1 20+ 10= 2 23 840+ 4= 210
2. 420+10= 42 24, 840 +40 = 21
3. 4200+ 10= 420 25. 3,600+3= 1200
4 4,200 + 100 = 42 26. 3,600 +30= 120
5. 42,000 + 100 = 420 27. 3,600 + 300 = 12
6. 40410= 4 28. 4800+2= 2400
7. 840+10= 84 29. 4,800 + 20 = 240
8. 8,400+ 10= 840 30. 4,800 + 200 = 24
9. 8,400 + 100 = 84 31 69,000 +3 = 23000
10. 84,000 + 100 = 840 32. 69,000 + 300 = 230
1. 900 + 10 = 90 33. 69,000 + 30 = 2300
12. 90+:3= 30 3 800 + 40 = 20
13 900 + 30 = 30 35. 1,200 +40 = 30
14. 6,000 + 100 = 60 36. 1,280 + 40 = 32
15. 6042= 30 37. 1,600 + 400 = 4
16. 6,000 + 200 = 30 38 8,000 + 200 = 40
17. 260+10= 24 39. 14,000 + 200 = 70
18. 4+2= 12 40. 14,600 + 200 = 73
19. 240:20= 12 41. 2,560 + 80 = 32
20. 6,300 = 100 = 63 42. 16,100 + 700 = 23
21. 63:3= 21 4. 14,400 + 60 = 24
22. 6,300 + 300 = 21 44, 37,800 + 900 = 42
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